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GENERAL PAPER - I
AT T - 1

Directions for question number 1 to 5: g wEm 1 9 5 & fod Few :
Study the following table carefully and answer e aifeet @1 e A ufed e T fd T W
the questions given below it. %1 W e
Percentage of Marks obtained by different fir-Rr o g, Raa-firs fai & reient
students in different subjects <R UferoTd
SUBJECTS STUDENTS faoa EIEl
(M;I);lrgm Asha |Som |Raghav | Pankaj |Sachin |Shobha (sifuean o) | ommen| W | TEE | e | G (9
Maths (100) 84 |90 | 74 | 62 | 82 | 70 U (100) 84 | 90 | 74 | 62 | 82 |70
Physics (100) | 82 | 84| 9 | 64 | 70 | 80 sfiferer fagm (100) | 82 | 84 | 90 | 64 | 70 | 80
Chemistry(100)| 70 | 62 | 64 | 76 | 72 | 86 THEA WA (00) | 70 | 62 | 64 | 76 | 72 | 86
Biology (100) | 77 | 63| 81 | 79 | 69 | 87 S fagmoo) | 77 | 63 | 81 | 79 | 69 |87
Hindi (100) 64 | 60| 62 | 70 | 80 | 66 &=t (100) 64 | 60 | 62 | 70 | 80 |66
English (100) | 66 | 86 | 74 | 82 | 60 | 74 SAUSH (100) 66 | 86 | 74 | 82 | 60 |74
Sanskrit(100) | 78 |70 | 84 | 8 | 78 | 68 T (100) 78 | 70 | 84 | 86 | 78 | 68
gzzg::gg‘o‘;al 84 |70 | 64 | 90 | 70 | 80 et for (100)) 84 | 70 | 64 | 90 | 70 |80
1.  Marks obtained by Sachin in Chemistry ~ 1.  TaPR W& & W4T gRT 91 i 7, ELl]
are what percent of marks obtained by fowg § w9 gR1 9 3k ol giaqwra T
Shobha in the same subject ? (rounded 27 (3 <ymera foig 7 iS)
off to two digits after decimal)
(A) 83.72 (A) 83.72
(B) 79.14 (B) 79.14
(C) 89.64 (C) 89.64
(D) None of these (D) T q T8 TRl
2.  Who has scored the highest marks in all 2. |t fawai o, forem waifues of Jra fopan ?

the subjects together ?

(A) Asha (A) Smr=m
(B) Shobha (B) W
(C) Pankaj (C) dUHS
(D) None of these (D) ¥ fenedt 3 off &1
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How many marks did Asha get in all the
subjects together ?

(A) 685
(B) 605
(C) 659
(D) None of these

How many students have scored the
highest in more than one subject ?

(A) Two

(B) Three

(C) Four

(D) None of these

If the average marks obtained by
candidates is taken as performance of the
students then the best performance is in
~which of the following subject ?

(A) Mathematics
(B) Physics
(C) Sanskrit

(D) Environmental Science

The effective teaching does not essentially
require the following :

(A) Receptivity of students
(B) High Learning Level of the teacher
(C) Methodology of teacher

(D) Communication ability of teacher

amen 3 9t fowdl § g1 fraw ofw wr
feran?

(A) 685

(B) 605

(C) 659

(D) = & g o

Tohan B A T § iy fawg ¥ sy
3% g fha ?

A @
(B) =
(€) =R
(D) T ¥ #E T

T BB &% SAIGd IISiiw Y, SHE & IS 3
T H foran 99 A, 9o 3=l ey i i T
frg famg w1 32

(A) o

(B) fiferes vy
(© w=pa

(D) vateRe faqm -

JurerRTet stearas ¥ Stferda: e § 9
TorEant STarvarend] el &2

(A) ST S TR

(B) Toers =1 3=9 sIftrm W
(C) Toerer & fo@m o qdemn
(D) ek 61 SIwor e
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Match the following :

(a) Mahatma (i) Naturalism
Gandhi
(b) Socretes (i) Idealism
(c) Rabindranath (iii) Basic
Tagore Education
(Buniyadi
Shiksha)
(d) Swami (ivy Man
Vivekanand Making
Education
Code :
@ ® © @

Nt

(
(A) @ () (@) (@)
(B) (v) @ (@) @
©) @) @ @) 0O
(D) (@) @ @ @)

[

Causal relationship between variables is
identified in which type of research ?

(A) Historical

(B) Experimental
(C) Survey

(D) Case study

What should be done before starting
remedial teaching ?

(A) Psychophysical Evaluation
(B) Diagnostic Evaluation
(C) Sociometric Evaluation

(D) Critical Evaluation

8.

9.

Frefefea s gafea wifae -

(a) e TR () TR
(b) GH@ (i) SRR
() =T (iii) gfrad fren
SR
(d) O fREER (iv) W S
it e
E &R

@ ) () (@
(A) @ (v (@) @
(B) (@v) (@) (@) 0
©) @) @) @) 0
(D) (@) @) @ @)

=T & T HP-HR0 GaY F Tea fhd
THR o STEUH H H S 82

(A) Ufefaes

(B) WAHS

(C) wdam

(D) =Afe TeAIA

ST FIE TR H % T T
=few ?

(A)  TAfaR qeis

(B) RS qeai

(C) THSIHE qedishT

(D) TEAEAHS Ak
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10.  Inresearch papers which of the following ~ 10. 79 & 4 %11 a8 @’R‘H Hfare LGl TSy
is the Latin abbreviation used for “and tﬁﬁﬁ“@ Y ”%WWWW?
others” ?

(A) et al (A) et al
(B) et al (B) et al
(C) etal (C) etal
(D) etal, (D) etal,

11.  Arrange the following steps of teaching 11. mwm%ﬁwqﬁﬁmnm&a
process in order : FHI
(i) Evaluation (i) Iiw
(i) Relating the present knowledge (i) oGHE I B E 1 | Fag

with previous knowledge
(i) Formulation of objectives (i) e & FEgY
(iv) Presentation of teaching materials (iv) Temeror |rmh = vt
(v) Reteaching (v) Y e
B 6 @ & @) A O @ @) (@) @)
B @ @ O ) © B @) @ O ®
© @) @ (v @ @) © @ @ ) @ @
@) @ @ @) @ () @) @ @ @) @@ (v

12. The data obtained on the basis of 12. Ye9 o SRR CHECEET) F YR W YIS
appropriate tool is : fopan ST €1 3 e €
(A) Secondary data (A) fsdias veg
(B) Primary data (B) wufiw yem
(C) Replication data (C) YTl gga
(D) (A) and (B) both (D) (A)UH (B) aFl

SPACE FOR ROUGH WORK / T% &%/ & fod s
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13.

14.

15.

A researcher prepared a report based on
the interviews of 25 people. Under which
category, this research can be placed ?

(A) Quantitative
(B) Qualitative
(C) Historical

(D) Experimental

A researcher is interested in seeking

Informed Consent Letter from the

respondents participating in his research.

Which of the following information is not

necessary in the Informed Consent

Letter ?

(A) Information related to the purpose
of the research.

(B) The information related to the
confidentiality of the data obtained
from respondents and their use in
academic purpose only.

(C) Information related to the reliability
and validity of research.

(D) Information regarding time

required by a respondents and

hazards in data collection.

Which one of the following is not a
teaching method ?

(A) Lecture method
(B) Demonstration method
(C) Psychometric method

(D) Discussion method

13.

14.

15.

T STERRT 25 T & HETlceh & 3TN
R TF YEeT JIR H T T8 STHUH
fre A § frg vl & SAIEYH ¥
amam ?

(A) HHCTR

(B) TUIHH

(C) Tferlas

(D) YA

Yo U % qd T Wekdl e § 9
A IS IS W SR FEH A el
3| gfaa weafa o § e 9 € e
HEYIH T §?

(A) g 3 RS 9 gl e

(B) SERErme | W WEW Pl TW W T
ITF FIA SFHEHE ITAFT TE
il

©) vy H1 favewdaa o duar 4
T YEA |
(D) Ved HehoM § TH Sl 5N T

frefefad 8 § #1 © fem fafy 78 82

(A) e fafy
(B) w3 fafu

() WAt fafy
(D) fomm-fawst fafy
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Direction for question number 16 to 20 :
Read the passage and answer question
(16 to 20) on the basis of what is stated or
implied on the passage.
PASSAGE

The Cabinet of Dr. Caligari, directed by
Robert Wiene in 1919, remains the supreme
example of expressionistic filmmaking. The film
is narrated by a young man who suspects Dr.
Caligari, a mountebank who is part of a
traveling fair, of being responsible for a series
of violent crimes. Caligari’s instrument of crime
is Cesare, a sleepwalker who is under the
control of the evil doctor. Cesare captures a
young woman, but she escapes, and in the
subsequent search for the doctor we learn that
he is really the director of a local insane asylum,
in which the narrator is a patient. The film’s
expressionistic sets and lighting reflect the
narrator’s madness. Walls are slanted and
windows triangular. Surreal effects of light and
shadow are painted directly on the sets.
Furniture is distorted and oversized, evoking a
nightmare world of insanity. Dr. Caligari is a
unique film with a secure place in film history.

The so-called expressionistic “street films”
dealing with the lives of common people had a
great influence on the popular imagination.
Director Fritz Lang’s Metropolis (1926) presents
achilling vision of life in the twenty-first century
in which the rich live luxuriously in skyscrapers
while the workers toil as slaves below the
ground. Metropolis is another spectacular
exercise in German expressionism, and the
screen is filled with stylised shadows, sloping
camera angles, and nightmarish underground
chambers.

U9 WE&AT 16 W 20 o fordr Fordor
U T syt W wFYds st ok yw He
(16 | 20) T % W& W AT=E W YA q8
% STTER AR

CEE]

fa &fae w7 S iRt 1919 § 19
a7 7 TR o on < o9 9 erfreafam fre
o &7 v walt= Seeew ®1 frew = e 3
T SIS 7 9ol foma @ S =F S w w
HISEHE Y H @A & A A T W
a1 3 feureTe ST} o1 SR 1 w3
ST9Y <1 BN g o Semeren T =i e
S g el % fri F ¥ WeR w Taged
TG Al B S I g A 9T I £ s zg T
H G e % w9 o uar o € fE
A H T W qerEm &1 v §
ST qh I UMAGH 1 Tk T ¥ fipeq =
sAfvefame dew iR Jv HuEmEs F qerT
1 T B | =T Rt i fereedt e Fearefpait ot
S T qo BN Bt weneh U € on o ey w
T YT TR TN TR | AR TR syereen F 74 3
e SAfeshAY St ¥ S amTereE W ghrn @
WA S WA § 1 ST FAR T S
fthew & St et < % sferera & o1 woh e
I o foran ¥

stfeafama Wiz fhew’! w81 HaeT 98
v, s wrfl % Sfem & Heifud ¥ R e
e R weaell § foma ¥ v Wi
A1 1 fren Agiifer (1926) soREet TS %
Sfie =1 faet Sl faem #Y Tt & st e
ifd foremaar qof &9 § o<t o<t 3Rl § Frarg
A § Safer T ST § Temdt @ it o §
Heitifere <A fieaf B T 1= THeR RReg
@ fored o2 Seftyrl wordl | wil § o ot
HAY T TR 2N YT SR T aren e
Sl =S WEHY Al B
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16.

17.

18.

All of the following are characteristics of
expressionistic film EXCEPT :

(A) surreal effects of light and shadow
(B) nightmarish imagery
(C) luxurious sets and furniture

(D) slanting and distortion

According to the passage, the plot of The
Cabinet of Dr. Caligari is mainly about :

(A) ayoung man whois responsible for

several violent acts.

(B) an evil doctor who uses another

man to commit crimes

(C) a young woman who looks for a
doctor to help her

(D) the terrible conditions in a hospital

for the insane

The word mountebank in paragraph 1 is
closest in meaning to :

- (A) a physician

(B) an expressionist

(C) a seller of false medicines who

attracts customers with lies or tricks

(D) alocal insane asylum

16.

17.

18.

e 1 QT TR frew &t fadisem
%, ILEIRE

(A) TR T BT o AR T
(B) wHEE Wefe FEa

() ferenfarargel d@ qo iR
(D) fo® T g e

o1 F ER, & wiie ot 7 Ffae 3
o7 FreTt wea: ek e W 82

(A) T o < ¢ T sl o S
T

(B) T g SR S qEY AR S
ST FHTEN o T HAl &

() T vE e ST T <R 3
TS § ¥ S ST FER L

(D) Terfreii 3 for el & sTree Bet

IR 1 ¥ v Agedd e e e
a1ef % feheam €7

(a) fafees

(B) et

(©) T e T ek < @
< SO §

(D) T T T Snere

SPACE FOR ROUGH WORK / % & & fa s
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19. "How does the author characterize 19. o&@® 9 TR § Arreig T
Metropolis ? Tafsa e €2
(A) A street film about the lives of (A) m@ﬁ%sﬁaﬁmaﬁ@gﬂzﬁ
common people
(B) A documentary about life in the (B) spIga ¥ Sem 9 Heifya
| twenty-first century SiRME=Y
(C) A criticism of unfair working (C) or3fert = aRfearfaal o6t e aTeire
conditions
(D) An imperfect example of German (D) wHA stfeafa &1 T ?ﬁﬂTﬁ 3B
expressionism
20. How do the walls, windows and furniture 20. 17 FfaA2 o e Fremm § AR, Taefe
in The Cabinet of Dr. Caligari contribute e TS-Hfa fohg weR @ frem  orw
to the film ? AR St &2
(A) They reveal the doctor’s lies and (A) 9 2 & Y3 a1 IHF! AT F
tricks. Tehe a4 |
(B) They portray the popular styles of (B) 9, W 1A i wrewiy et fafn
the period. A
(C©) They display the director’s artistic (C) o frdwent e e ATy
vision. HLA B
(D) They express the insanity of the (D) 9 FHUETEH H UG F FH B
narrator. g
SPACE FOR ROUGH WORK / % &1d & f&d wg
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21. Which of the following are components  21.

of INSPIRE Programme ?

(@) Scheme for early attraction of
talents

(b)  Scholarship for higher education

(c) Assured opportunity for Research
Career

(d) Granting funds for Science
Education

Code :

(&) @, ) and ©
®) () (©and @
© (© (@ and @

(D) (d), (a) and (b)

22. In a certain code GERMANY is coded as 22.

7594157 then in the same code RUSSIA
is coded as :

(A) 911391
(B) 913191
(C) 931191

(D) None of the above

TOURR FEE # frfafed § @ wed
A FHSS?

(@)

(b)
(©)

(d)

e :

(A)
(B)
©)

(D)

| & T § i B R
RISk

= foen & fae foen 9fa
vy FRER & o gifrea s

fogm foen & fow oFe@

(a), (b) 3R ()
(®), (0) ¥R (d)
(©), (d) ¥R (a)

(d), (a) ¥R (b)

T i 2 § GERMANY W1 e 7594157
% 3t 3¢ H RUSSIA %1 %2 80T :

(4)
(B)
©)
(D)

911391
913191
931191

SR § A oft T

SPACE FOR ROUGH WORK / 1% &1 & fo& s
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23. In wheel communication network : 23. = HAR YT H
(A) All the workers receive instructions (A) |l FHAR - T A @ e
and guidance from one person. Y AR o §
(B)  One person communicates with one (B) hadl TF fHd frdft te s o =
person only. FHIA T
(C) Everyone is free to communicate (C) TAF AHT, Tk 4 1A Y Fehell §
with anyone.
(D) The message moves in a circle. (D) W U g ¥ Tiasher a1 T
24. As’Earth’ is related to “Moon’ in the same 24. SO 9FR ‘geeft’ Haifym ¢ e’ @ sdt wem
way ‘Jupiter’ is related to : ‘gewafa’ defm & 9l
(A) Europa (A)
(B) Phobos (B) wEg
(C) Deimos (C) =um
(D)  All of these (D) SWie gt
25. If‘A, B is coded as ‘3, 7,/C, D’ iscoded  25. AC‘A, B Feag foman man %’3, 79, C,D
as ‘7,11, ‘E, F is coded as “13, 17, then FZFE fohan T R 7, 11’ 9, “E, P $ewg
‘1, J will be coded as : foran T 13,17 |, @ L, W peas
o smm ‘9
(A) 19,23 (A) 19,23
(B) 37,41 (B) 37, 41
<© 21,27 <© 21,27
(D) 21,25 (D) 21,25
SPACE FOR ROUGH WORK / T% &/ & fod s
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26.

27.

28.

Analysis is either pure or applied
mathematics. Only those branches of
come under

which do not

assumptions outside of its realm.

mathematics pure

mathematics use
Differential analysis uses differential
calculus. Differential analysis is not pure
mathematics. Since analysis does not use
assumptions outside of its realm, so it is
pure mathematics. The conclusion thus

drawn is :
(A)
(B)
©)
(D)

deductive
inductive
collective

descriptive

A is son of B. Bis mother of U. U is wife
of V. V is father of Z and Z is brother of
W, how are V related to A and B?

(A)
(B)
©
(D)

Brother-in-law, Son-in-law
Son-in-law, Brother-in-law
Brother-in-law, Mother-in-law

None of the above

A compiler is a software which

converts :
(A)
(B)

Characters to Bits

High level language to Machine
language

(C) Machine language to High level
language

Words to Bits

(D)

26.

27.

28.

fargerToT 71 1 Y5 A1 W o § 1 fore
ool & YT S U % SRR STl § S
ST & T SR Y AIAS o Sw T
FE ¥ Fo favaTo e ST B
3| o Frweo g TE T 31 HfE
g ST9 &5 % e i HAFEdST
Sy T €, Tl 7 S A ¥
79 YR Frerren T e

(D) SUHTCHS

A, BHITGAE, B, U AWIE, U, VH A F,
v, 7 1 faar &, aen Z, W1 9 BV TEE
YR A 91 B ¥ Heifem ®7?

(A) ST/ ST, TR
(B) TG, W/ i
(C) e/ sfsT, wE
(D) W H e oft T

FHETEER T THeaeR € S uRafid i @

(A) e i fozg §
(B) eI oE oA i W TS H

(C) T ST B e s H

(D) o<T = fogg ¥

SPACE FOR ROUGH WORK / T @14 & fa& <
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29.  Read the following statements (I), (I and ~ 29. 7 %M (1), (II) e (I11) qfeq :

(I :

Statement (I) : No flower is fruit. WA (1) : I ot PR ECES

Statement (II) : Some fruits are leaves. HYA (1) : $3 %l Tfaal 2

Statement (ITI) : All leaves are trees. HYA (1) : G+t ‘Tﬁ'ﬁg’ﬂ g

Conclusion (I) : No tree is fruit. Frewet (1) : 3% oft 98 vt 7 7

Conclusion (II) : Atleast some trees are Ry (11) ;%9 9 &0 3 98, He €

fruits.

Which of the above conclusion can be A (1), (I1) TN (1) Y I g e

drawn from the statements (I), (II) and TehTe ST Tehar ®2

(I ?

(A) Only conclusion (I) is correct. (A) Foe frepd () && T

- (B) Only conclusion (II) is correct. (B) hadd foreeped (ID) & 7

(C) Neither conclusion (I) nor <© = ar Frene (D) 7 fre=ne (1) W& &)
conclusion (II) are correct.

(D) Details insufficient to draw (D) e e & fee qaf =n
conclusion. EXNECR RS

30. Match the following : 30. Sfud Hey Sifed .

Biome Rainfall |aEg ast

(a) Grassland @  25-100 cm (a) ™ A HSH i) 25-100 §.1

(b) Tropical rain (i) 25 cm (b) Swefeddm (@) 25 A
forest a5 A 9

(c) Temperate (i) 100 cm (c) HHEfdrS (iii) 100 Q..
deciduous forest quigrd] a9

(d) Taiga (iv) 200-500 cm d) &m - (iv) 200-50093

(e) Tundra (v) 25-75 cm () TuE (v) 25-75 Q.4

Code : ' %< :
@ B © @ (@ @ B © @ (@

A) © @ @ @ @ @A) O @) @ @ @

® ) @ @ @ @ ® ) @ @ @ @

© ® @ @ 6 @ © ® ) @ 6 @

D ¥ ) G (O (@ D) ¥ © ) @) @

SPACE FOR ROUGH WORK / T% &g & o sig
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31.

32.

Which of the following is correct IP  31.

address ?

(A) 300-215-317 -3
(B) 202.50.20.148

(C) 302-215@417 -5

(D) 202 - 50 - 20 - 148

Put the following units of storage into the ~ 32.

correct order, starting with the smallest

unit first :

(a) Kilobyte
(b) Byte
() Megabyte
(d) Terabyte
(e) Gigabyte
(f) Bit

Code :

(A) (®, (®) @ (d), () ()

(B (© ®), @), ©), (@, (e

© @) ®), @, ©) () ()
(D) (), (), (@), (d), (©). ()

e Y - IPTSE €2

(A) 300 - 215 - 317 - 3
(B) 202.50.20.148
(C) 302-215@417 -5

(D) 202 - 50 - 20 - 148

frfafiad WIS AEehl o, Tad Bie TEH

Y IS U & A § §9ET

(a) IEISIEIEE
(b) e

(A) (0, (b), @) () (e) ()
B) (), ), @) () (@) (e

©  ® ®) @ (@) (C) (d)

(D) (©), (). (@) (@), (). (e)

SPACE FOR ROUGH WORK / % @1 & ford s g
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33. If A=1 then find the next term in the
following series :

C E HKP,S,?
(A) W
(B) X
© Y
(D) Z

34. Effective classroom communication ou ght

tobe :
(A)
(B)
(©
(D) pathetic

sympathetic
empathetic
apathetic

35. The concept of Virtual University involves

which of the following concepts ?
(@)
(b)
(c)

Consortium of Institutions.
Appropriate ICT applications.

Working in collaboration to plan

programmes.
(d) Development of content together

and deliver them to learners.

Inter-institution Exchange

(e)
Programme for staff.

Code :

(A) (@), (), (), (d)

(B)  (b), (c), (d), (¢)

©) (9 @) (@) @

(D) (@) (e), (), (b)

Ffe A =1 f1=9 Ivitsen & svren 92 B
C EHKPS,?

33.

(A) W
(B) X
© Y
(D) Z

34. YOI HEeheT TER ST =IfRT

() WeTgYfaSHH
(B) wegHfasTTR
(C) frecHEsTh
(D) FEUTSHS

35. oA FAarder H Heheqw e F f

Hereaat ! afinafer o §72

(@) HHEAT AR FLEEEH

(b) THIHAE ICT TAHIFE

T 37 RITSINEH 2 T W

< g o
S-SRI TS U B &

@), (), (c), (d)
(b), (c), (d), (e)
©), (d), (e), (@)
(d), (), (@), (b)

(B)
©)
(D)

SPACE FOR ROUGH WORK / % &/ & forl smig

Set - A
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36.

37.

38.

Find the missing number in the following

number series :

1,3,7,10,19, 39,44, 69
(A) 23

(B) 28

© 21

(D) none of these -

Which of the following Air Pollutant has
maximum Relative toxicity ?

(A) Carbon monoxide
(B) Hydrocarbon
(C) Oxides of sulphur

(D) Oxides of Nitrogen

Words or symbols with multiple meanings
create :

(A) Physical barriers
(B) Socio-psychological barriers
(C) Semantic barrier

(D) Personal barrier

36.

37.

38.

et atiferss Aol # faeya He i il :

1,3,7,10,19, ___, 39,44, 69
(A) 23
(B) 28
(C) 21

(D) T q F T

e B e ary YgTeR s arafien fadendH
o aAfes 77

(A) HEA ARIAES
(B) RS
(C) TR & ATFES

(D) TEEISH & RS

g arefeel Yeg 1 Ttk Yo Al € ¢

(A) Hifew ey

(B) TTHISh-AAR TR Y
(C) erefgaH sy

(D) SAfRTT TR

SPACE FOR ROUGH WORK / 7% &Td &% fa&t s
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39. Which of the following is not a  39. 1= & %9 w1 w3ww =} fordvwar 7 7
characteristic of communication ?
(A) Two-way process (A) 2 T aTelt i
(B) Information sharing and (B) A STEH-YEM G THSAT
understanding
(C) Continuous process (C) wad fskan
(D) Linear flow (D) Yas o
40. Find the minimum number of straight  40. T=fafas o F1 A F fow smay
lines required to make the following TH HT Y@sl St A A Hi
figure :
4\ _,/_\,\? [”<_ /
/// \*\// 7 \
"““aﬂ_ﬁ_Li; \\\ ﬁ\
“\.\\\\-H
A) 10 (A) 10
(B) 11 (B) 11
(C) 18 (G 18
(D) 12 (D) 12
41. Teleconferencing is an example of which ~ 41. T f= ¥ 9 fohe TR = FES R
type of Distance Education ? EUESH R
(A) Asynchronous distance education (A) ITgeTshIfeTes g foen
(B) Synchronous distance education (B) Tt L& foem
(C) Hybrid distance education (C) H gy foem
(D) All the above (D) W ¥t
SPACE FOR ROUGH WORK / % & & ol wme
Set - A 18 0128/ TFU-GEN/ELG-



42. What is true about species of wildlife ?
(a) Exhaustible
(b) Maintainable
(¢) Non-renewable
(d) Renewable
(e) Inexhaustible
Code :
A) (@), ©), ©
B (@), (b), (@
©) (), (©), ()
(D) (b), (d), (e)

43. Match the Number of State Universities
in States on 31.03.2017 :

S@ts No.. of S.t?te
Universities
(a) |Rajasthan (i) 47
(b) | Tamil Nadu (i) 52

(c) |Uttar Pradesh (iii) 72
(d) |West Bengal (iv) 74
(e) [Madhya Pradesh | (v) 36

Code :

@ (®) (9 (@ (¢
(A @ @ @) @Gv) (v)
(B) () @ @) (v) @
© @ @v) @@ (v) @
D) @ (v @ () ()

42,

43,

a2 it FSiioa) o Hel ¥ R e v ?
(a) EHE B S el
(b) wer
CEEEREETLIR]

(d) TeTHoia

(e) 7 H9TA g el
e

(A) (@, (®) ()

(B) (a), (b), (d)

©  (®) (), (e

(D) (b), (d), ()

Tl ol feian 31.03.2017 &t feufa & oty
fa.fa. = den 4 gafaa =X
TSI &t
K (52
fafa = v
(a) [Trore 6 47
(b) | afrerTrg (ii) 52
(c) SR wew (i) 72
(d) [qfe=m ST (iv) 74
(e) A&7 YR v) 36

@ () () (4 (e
(4) @ @ @ @) @
(B) (v) @@ @) ) 0
© @ @ @ O
O O @ @ G (@)

SPACE FOR ROUGH WORK / T% &td & f&&l wrg
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44 Which of the following is true ? 4

(a)

(b)

(©)

(d)

At the time of independence there
were 20 Universities and 531
Colleges.

At the time of independence there

. were 2.1 Lac Students.

On 31.03.2017 there were 795
Universities.

On 31.03.2017 there were 42338
Colleges.

Code :

(A)
(B)
©)
(D)

(@), (), ()
(b), (), (d)
©, (@), (2
(d), (a), (b)

45. An ASCII is a character-encoding
scheme, that is employed by personal

computers in order to represent various

characters, numbers and control keys etc.

which are used by the user on the
keyboard. Hence, ASCII is abbreviation

of :
(A)

(B)

©)

(D)

American Standard Code for
Intelligent Information

American Standard Code for
Information Integrity

American Standard Code for
Information Interchange

American Standard Code for
Isolated Information

44.

45.

frrferfea & oo wdr 82
(a) TSI & ¥d 20 favafasmera aun
HRIfeRed 9 |

(b) TS & AT 2.1 A faemeff &
(c) 31.03.2017 =i 795 fowafemmery

(d) 31.03.2017 =l 42338 W=

e
(&) (@, @) (©
(B)  (b), (9), (d)
©) () @

(D) (d), (a), (b)

ASCII T H{FR-T=hITET @hig & %
IUERT fafvm iR, Temsi aun w2t S
TS Sl TEA Pl % gR1 frefia f
S €| TRt S Sue % R
TR feRar ST ® | 3719: ASCII %1 Iuf 9 §

(A) ET WS BT BN b
TRHIA

(B) STHUFA WSE ®HIT R ThIH
Tfife

(C) omleT Wed ®Is ®R T
EECE

(D) 3T W HIE TR Az
TERIHYA

Set - A
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46.

47.

On the basis of biomagnification factor
(L/kg), the increasing order of which
chemicals are correct ?

(A) Benzene < Chloroform < DDT <
Chlorodane

(B) Chloroform < Benzene <

Chlorodane < DDT

(C) Chloroform < Benzene < DDT <
Chlorodane

(D) Chloroform < Chlorodane <
Benzene < DDT

Which of the following are Geothermal
locations in India ?

() Manikaran
(b) Hirakud

(c) Surguja

(d) Surajkund
(©) Réjawar

(f) Kakrapar
Code :

(A) @), ®), © @
B) (@), © @), @)
© (@ © @,
D) (@), ©, @), ()

46.

47.

el A &l ik (. /foRelt) % emER
W WEA R oo Wl R 7

(A) S < FARBHE < LEL A, < FARRA
(B) FRIBIH < I=i < FARISA < LA,
(C) FARIBH < I=i < EN.E. 3. < FARA

(D) ARG < FARISA < i < ELELA.

1 H @ S IR § oty e §?

A) @, ®) © @
(B) (@), (c), (d), (b)
©) (@) (o) @) @
(D) (@) (c) (d) (e)

SPACE FOR ROUGH WORK / 1% &1 & o g
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48. If ‘x+y means ‘x is mother of v/, 48.

‘x—1 means ‘x is brother of v/,
‘x%y means ‘x is father of v/,
and ‘x Xy’ means “x is the sister of i/,

then which of the following represents
‘P is maternal grand father of Q' ?

(A) P+SxR-T%Q
(B) P+S%R-TXQ
(C) P%S+R-TxQ
(D) P-S%R+TxQ

49, HTML is used to create : 49,

(A) Operating system
(B) High level program
(C) Web-server

(D) Web-page

50. Classroom Communication is not related 50.

to:

(A) Intrapersonal Communication
(B) Interpersonal Communication
(©) Public Communication

(D) None of the above

-000-

AR x+y F AL T A A Ty,
‘x—y AL T x 9E By H,
‘x%y a7 B x gy =,

A xxy A ] T Ry R

e frafafgs § 9 <9 fasfug st
PIEQHI'?

(A) P+SxR—T%Q
(B) P+S%R-TxQ
(C) P%S+R-TxQ
(D) P-S%R+TXQ

HTML 1 351 § foreeht To &6t i
(A) ST faenm

(B) T o W

(C) dT-FR

(D) S=-US

FHeyeRe] 9N T fhud deiy =@ €7

(A) TS FER
(B) SidaafF® FER
(C) s FaR -

(D) SS9 ¥ FE ot T

-00o0-

SPACE FOR ROUGH WORK / 1% &1d & fad g
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-

{ sifreRaw i ;

Time for marking answers : 1 Hourj Maximum Marks :

e

1. 39 7H-Yfke 8 50 agis wed fou e 81 welt v eifard €1 wels v % faw a (2)
fruffaa &1

2. U % W, § T OMR SR-3M2 (STE-3fie) W ifera wifsa

3. RUNCHeE HeAish TE T WerT |
4. e ft T® F FoFore T & o e HeEd B & gEn afld ¥

5. OMR SW-3M2 (3NW-3IM) T THIT FId THY T T @Y 7 906 F999 98 Fe 99 A1 3
Hrg a1 faaae ofe 9g wid 9 hoaey a8 @ie g S |

Note :

1.  There are 50 objective type questions in this booklet. All questions are compulsory and ca:

two marks each.
2. Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not
torn or spoiled due to folds and wrinkles.
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Immediately after getting the Booklet read instructions
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Question Booklet and do not open the seal given on the right
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booklet. without sticker-seal and do not accept an open
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this booklet. ‘
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examination hall, while the Question Booklet and carbon
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Use of any calculator/log table/mobile phone is prohibited.
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1.

9.

10.

i1

srvafdel & for frder

we-gfEh et & 7w I8 we sifed g8 F fiu e fe
mmv@ﬁsaﬁﬁaﬂtaﬁzﬁaaﬁaﬁm%m%{é?
gl | T Hie F T T e o g 5 W g
WER T F 9% e 71 Giew ¥ R S @ wa s
o 5 fafire & srferte: gw 7o W sifk 7o % 9o © g
= wen i g § 7w den @ e 9 gen © e
F A | TS/ T B G A G GG @ o a wH Y gl
T N 37 el forlensi & R wr yfeqol we gt
39 5 fafte & sigt agean o | 3% IYE 7 & 99 i
AT W Fehell © SR T @ i sifafa T R wieem

'wﬁngﬁufﬁawﬁﬁm'm,w—mw

ik fad qar ST BwER wY)

3., Sw-Afte § aw wfafii & ™ fAdwmer w
AT -3 1 et & fepar s
mwésa'ﬂt%@wfgﬁamﬁw%ﬁﬁqwan
fomedl & § W/ Sugw Faw UF @ fawed # T9 wW
AR Sw-3Mz § 56 fowes A M W, S 56w H
XA I F I B, e °r ey aiel-wgve A Q v
T I A WS Y Tt E A W, ST T B Yok
& )

= (A) @ © @) o @ s
w-RaH # 100 TGRS T R T ¥ vl g ¥ o
2 3 fuifa 31 woft 9w s £

- YfenT e SeR-wie F Py i e wfafiE o afafe
we ot 35 7 fad| T FH, 7 IRa § I W W H
T A % ST 7o ke Bied F qd g s wnem
SR-¥ie dierm w dw W geE-gie wE Seevhe )
e Hid el o Ty & W wwa ¥

FUNCHF qedishT 8 foran s

fordli off T % FergorRy/wi daw)/dere BT S gt
g1

W Rt e W uf ft e st & vy 6 worar o
fRarfr &, @ 318k qzor @t vt W wwm q@E

vIadl % o HUST vregvarett € W wEr e
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GEOGRAPHY - 1I

et - 11

1.

In which of the following orders of the
rapid flowages types of mass movements
does the water content increase ?

(A) Mud flow-earth flow-debris flow
(B) Debris flow-earth flow-mud flow
(C) Earth flew-debris flow-mud flow
(D) Mud flow-debris flow-earth flow

Match List-I with List~II and select the

correct answer from the code given

below :
List-I List-II
(Geomorphologist) (Concept)

Base level of

() King @

erosion
(b) McGee (ii) Principle of
uniformitarianism
() Powell (i) Pediplanation
cycle
Sheetflood theory
of pediment

formation

(d) Hutton (iv)

Code :

@@ () (9 @
(A) @ @ @ @)
(B) @ @) @Gv) @
© (@) @v) @ @)
(D) () (@) (i) ()

HE YaHe & g yare o Fefafed geri
% forg 0 o T ST AT oG] S 2

(A) TS TelI-31e Ter-Sat vl
(B) ol wel-37ed wA-TE TA
(C) 3¢ Fell-Ssit Fel-HS el
(D) WS wil-<3it Fei-a7ef Tl

Hei-1 1 Gei-11 & a1 gafea i iR
e o3 e @ Wl S g
Tll-1 HeR-11

(verRfaamteR)  (IrEuRT)

(a) T (i) STREH =T AYR-e

(b) Tk 7 (ii) TS I ST

(c) TEa (iii) YFe=TeM <

(d) g (iv) UfeHe fmfo =
ilewTs fag

e

(A4) @ @ @O @)
(B) @) @) @) @
© @) @) @& @
(D) @) @ @) @

SPACE FOR ROUGH WORK / T®% & & fa& smg
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The two-cycle theory of the origin of

limestone caverns was proposed by :
(A) Swinnerton

(B) Gardner

(©) Davis

(D) Malott

Match List-I with List-II and select the
correct answer from the code given

below :

List-1 List-II
(Features) (Geomorphologist)
Monadnocks (i) W. Penck
Primarumpf (i) W.M. Davis
Inselbergs (i) D.D. Carines
Equiplain (iv) Bornhardts
Code :

@ @G (9 (@
(A) @ @ (iti)
B @O @ (iv)
© (@v) @) @@ @
(D) @ @) @@ @)

3.

(2)

©
(d)

A TR RS i Sedr o fg=shia fagra
=1 wfare fere feran 2

get-1 1 G-I § sy qon & T

frefafed e ¥ w8 S 90T
el G-I
(T ) (33T )
A 0 =L FF
IEHREH (i) T=YUA. SHE
T () <. How
T (iv) SR
e

@ (®) (9 (@
(A) @ @ ) (111)
B) @ @ @) (W)
©) @) @ @ @
D) @ @ @ @)

SPACE FOR ROUGH WORK / T® &Td & o g
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Intrusion of hard sill in tilted softer
sedimentary layers gives rise after
differential erosion to :

(a) Cuestas

(b) Hogbacks
() Mesa

(d) Butte
Code :

(A) (a) and (b)
(B) (@) () and ()
(©) () (0 and (@
(D) (c) and (d)

Which of the following layers of
atmosphere reflects radio waves ?

(A) Ionosphere
(B) Ozonosphere
(C) Stratosphere
(D) Troposphere

How much of the total solar radiation
reaching the outer atmosphere is
returned to space without heating the
atmosphere ?

(A) 25%
(B) 34%
(C) 47%
(D) 66%

5.

6.

g T gAY Tt Vel & Tal | $oR

Afaa’ & Ay W STHHN U % a1

fafita 3 & -
(a)

(b) TTEH

(© w

@ @

%<

(A) (a) 3 (b)
B (a), () ()
© ) (© 3 @)
(D) (o) ¥R (d)

graraul w1 fAfafad vl @ 9@ SH-9 e
T Rl T St § 2

(A) ST HeA
(B) WSH Hew
(C) 9HAIY Hed
(D) &4 Hea

o A § TgE a9 fafw @5
TeraT 9rT e B ot 7T TRl ST (W)
H dite ST €2

(A) 25%
(B) 34%
(C) 47%
(D) 66%

SPACE FOR ROUGH WORK / T% & & fe wig
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Who among the following stressed that
the summer time heating of the Tibetan
Plateau plays an important role in the

mechanism of Indian monsoon ?
(A) Koteswaram

(B) Frost

(C) Flohn

(D) Halley

Which one of the following sequence is
correct in terms of energy flow in the
ecosystem ?

(a) Sunlight

(b) Green Plants

() Herbivores

(d) Carnivores

(e) Decomposers

Code :

(A) (a), (c), (d), (b) and (e)
(B)  (e), (d), (9), (b) and I(a)
(©) (a), (b), (), (d) and (e)

(D) None of above

8.

frefafed # 9 fam aoqde el i IR
A ®1 frafafy § fasaa & TR +
TISHERTEAA A ol Hawaqul fHeR! Bt 8 7

TRfeufer o S yoe W Tt wd
STTHY S |1 ]2

() v
(b) &fd 9EY

(A) @), () (@), () 3 ()
(B) (@) (d) (©, () 3R (a)
©) (@), (®) © (@ IR ()
(D) SR H g &

SPACE FOR ROUGH WORK / T® &g & o =g
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10.

11.

Assertion (A) : Crop rotation helps in
pest control.

Reason (R) : Crop rotation helps in

maintaining soil fertility.

From the above two statements, which
one of the following code is correct ?

Code :

(A) Both (A) and (R) are true and (R)
explains (A)

(B) Both (A) and (R) are true, but (R)
does not explain (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

Permeability of a soil is a function of its :
(@) Porosity

(b) Structure

() Depth

(d) Colour

Code :

(A) (a) and ()

(B) (a) and (b)

(€©) () and (b)

(D) (a), (b) and (c)

10.

11.

AU (A) . IR TR 9 Wk
H g fherdt 7|

SHRUT (R) : HHA 501 W T&T i Faldl Fad
I @l B

IR 1 el § W Frafafed S 9 %
@ e?

%‘

(A) (A) 3R (R) IF 9 § a4 (R), (A)
i T T

(B) (A) ¥R (R) Tl ¥ €, T (R), (A)
! e AN e 2

©) (A) 99§, T (R) 39 T
(D) (A) 39A T, g (R) ¥ T

T[T T ITETEIAT 61 RO § THHT

(A) (@) 3R ()
(B) (a) S (b)
© (0 3R (b)
(D) (a), (b) &R (¢)

SPACE FOR ROUGH WORK / 7% & & e g
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12.  The term “Ecology” was first used by : 12.

13.

(B)

©

(A) G. Taylor

Transley

De Martonne

(D) Haeckel

The surface flow of currents is governed  13.

s

(b)
(©)
(d)

Temperature variations
Density variations
Depth variations

Planetary winds

Code :

(A)
(B)
©
(D)

Quantitative Revolution ‘in Geography 14.

(a), (b) and (c)
(a), (c) and (d)
(a), (b) and (d)
(b), (c) and (d)

took place in ::

(A)
(B)
©)
(D)

Late 19t Century
Early 20t Century
Mid 20th Century

Late 20t Century

‘qiikfearfaent’ W% 1 Yo STARTER

(A)
(B)
©)
(D)

- (a)

(b)
(c)
(d)

%<

(A)
(B)
©
(D)

ST, TR
giget

~

< qrEfH

EEac)

T3l &t GE YaTE H FRU Y

YA IREd
Ted ftEda
g e
TR gATE

(a), (b) 3R (c)
(@), () 3R (d)
(a), (b) 3 (d)
(®), (0) 3R (@)

s[rivet # HISTTE STE TREdH e g ?

(4)
(B)
©
(D)

19 v % TS |
205 wdrss] & qats
2081 vrarsal & 7em |

204 ITst % TG A

T

SPACE FOR ROUGH WORK / 1% & & fordt siig
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15. Match List-I with List-IT and select the
correct answer from the code given

below :
List-1
(Geographers)
(@) Machinder @)
(b) Ratzel (ii)
(c) Blache - (1id)
(d) Spate (iv)
Code :
@ ® (9
(A) @) @) @
(B) Gv) (i) (i)
© @ @ G
D) @) @ @

List-1I
(Concept)
Probabilism
Possibilism
Lebensraum

Geographical
Pivot of History

16. Bring out the chronological sequence of

methods of Region delimitation :

(@)
(b)

Thissen polygons

Distance minimization

(c) Graph theory of quantitative

(d)
Code :

(A) (@), () (b) @
®) () (@ ®) @
©) @ (©) (d), ()
(D) (@) (@), (o), (b)

Variance analysis methods

15.

[et-1 1 GEN-11 3% wrer gifaa ¢ ol R
T Fe T W& W 1 T

eI
( FeraT )

(a) AfFTET ()

(b) &
(¢ =m
(@ =

16.

@
(i)
@)

%

(a)
(@)
(iv)

(A)
(B)
©

(D) ()

g-11

( 3raYreT )
LRI
BRCCIH
ferae=y
sfaem 1 e

yaw diHieT w1 fafy & FrergsHEr

A ddRY
(a) oA sy
(b) T TR

(c) WETH forearson 1 U fagr=

(d)
%
(A)
(B)
©)
(D)-

(d), (©), (), (2)
(©), (@), (b), (d)
(@), (c), (d), (b)
(@), (d), (). (b)

JoRor fagergur fafy

SPACE FOR ROUGH WORK / T% &1 @ fod s ig
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17.

18.

19.

As per 2011 census, the correct sequence 17.

in ascending order of these states in terms
of Rural Population is :

(a) Goa

(b) Sikkim

() Mizoram
Code :

(A) (b), (9, @
B) (@), (b) (©
© (© ®) @
(D) () (c) (b)

Natural Increase in Population growth 18.

means :

(A) The difference between birth and
death rate for a given population

(B) The difference between birth rate
and migration
(C) Thedifference between immigration

and emigration

(D) The difference between death rate
and migration

The population of Lepchas is high in : 19.

(A) Himachal Pradesh
(B) Bihar

(C) Sikkim

(D) Jharkhand

201'1ﬁwm%amwmmm
§ §afyd 37 TSAT %1 W@ dgal ST % H
HAAR?

(a) m

(b) fowrm
(0 fasim
T

(A) (b), (), (@)
(B) (a), (b), (c)
©) (c) (b), (@
(D) (@), (), (b)

wfas €9 J SEEn § gig w1 e §

(A) & T STEEn % fau s a9y )
F o9 3R

(B) S T AT YAEA F 9 W
(C) SIS T IHATA o o e -3

(D) ¥ T AU JIEF & o= 3R

Al i SAeTe! R g H oife § 7
(A) few=a gew

(B) fer

() fosrm

(D) #ES

SPACE FOR ROUGH WORK / T% & & fo&r sig

10

0128/ TFU-GEO/ELG-II



20. . Sex ratio is expressed in USA as :

(A) Number of males per hundred
females

Number of females per hundred

(B)

males

Number of males per thousand

©)

females

(D) Number of females per thousand
males

21. Who wrote the book of Statistics ?

(@) Gregory

() Cole and King

(c) Aslam Mahmood

(d) Zimmerman
Code :

(8) (a) and (9
() (2) and (b)
(© (a) (b) and ()

(D) (b) and (d)

FET # foin o foRe gehr o TR

20.
. SmE?

(A) € afeensli W gEE @ wE

(B) &t goui W wigensii & we

(C) TR Higensti W ges i den

(D) TR Yeu R Afeensii #t g

21, Wit T e e

(a) I

(b) e
AT HeHS

ISLCE

(a) 3 (c)
(B) (a) 3R (b)
(© (a), (b) ¥R (c)

(D) (b) 3R (d)

SPACE FOR ROUGH WORK / T% %Td & ferd sg
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22.

23.

Who are followers of determinism ? 22,

(a) Humboldt
(b) Carl Ritter

() Vidal De La Blache
(d) Retzel

Code :

(A) (a), (b) and (c)

(B) (a), (b) and (d)

(© (@) and (d)

(D) (b) and (c)

Crop combination methods were  23.

introduced by :

(@) J.C. Weaver
(b) Doi

(© N.P. Ayyer
(d) G.T. Treawartha
Code :

(A) (a), (b) and (c)
(B)  (b), () and (d)
©) (a) and (q)

(D) (a), (b) and (d)

freeeee & wds FE?

(b) el fex
(c) dESd Tt A AR
(d) o

&) @, ®) ()
(B) (a), (b) 3R (d)
©) (a) 3R ()
D) () (o)

T g ot % whaaes £

(a) SLEL. FR
b) €

) TAH =R
(d) A foarad

(A) @, (b) W ()
(B) (), (0 R (d)
© @sE
(D) (), (b) 3R (d)

SPACE FOR ROUGH WORK / T% &1 & fod wwig
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24.
by :
(a)
®)

©
@

Code :
(A)
(B) (a) and (c)
© (@ and )
(D) (@), (d) and (d)

A. Weber
Smith
Christaller

-Van Thunen

(), (b) and (0)

Industrial location theory is propounded

Match List-I with List-II and select

List-II

Human
Geography
Political
Geography
Resource
Geography
Fluvial
Geomorphology

@
@)
(i)
(@
0

25.
correct answer from the code :
.List-l "
(a) Friedrich @
Ratzal
(b) Paul Vidal De (i)
La Blache
(¢ Zimmerman (i)
(d) W.M. Davis (iv) -
Code :
(@ (® (o
@A) @ @b @)
® @ @ @)
© @ O )
D) @) @ W)

24.

25.

@)

(b)

(d)

I 1 TR fagia st amn

(a) T IR
(b) T&g
(c) E X AIGES
(d) o A
X
(A) (@) (b) ¥R (o)
(B) (@) 3R (©
© (a) 3R (b)
(D) () (o) 3R (d)
-1 1 gEi-I1 § FAemsy aen % 9§ W
W G
i1 HEH-11
el T () O
e aEed o (i)  OSHiae i
oI ST
ISR (i) HEEE LA
TR, AW (iv) T e
e
@ () © @
(A (6 ) @) @
B) @) @ Gv) ()
© @) @) @) @)
(D) @) @) @) @

SPACE FOR ROUGH WORK / % &1 & fd <8

' 0128/ TFU-GEO/ ELG-1I

13



26.

Bring out the chronology of Great  26.

Philosophers in Geography given below :
(@) Anaximander

(b) Hecataeus

(c) Pythagorous

(d) Herodotus

Code :

(A) (@, ®) () @)

(B) (@) () (b), (d)

©)  ®) () @ @)

(D) (@, (), (@, (b)

Which of the following race has  27.

characteristics of Negritoes races ?
(A) Ulotrich races L,
(B) Cymotrichi races

(©) Leiotrichi races

(D) Amerinds races

The term “Umland” for sphere of  28.

influence of an urban area was first used
by :

(A) Alexanderson
(B) Smailes

(C) Allies

(D) Dickenso

@) wiSew
Fe

(A) (@), ®), (o), (d)
B) (@) (), (b), (d)
©)  (b), (0, (@), (@)
(D) (@), (9) (@), (b)

T 9 o e o gt nfer o1 Tqor o St
2?2

(A) Felfes T

(B) EHifgeh! et
(C) Tasiifert T
(D)  sT=H &

| wE & F e ¥ fa s’ w1 sedm

wd wow fRae fewar?

(A) TR
(B) IEOH
© TR

(D) few=m

SPACE FOR ROUGH WORK / T% &Td % 13 sig
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29.

30.

31.

Which of the following principal is
incorrect to achieve aims of regional
planning ?

(A) Principal of space-time continuum

(B) Principal of horizontal spatial unity

(C) Principal of vertical unity of
phenomenon

(D) The principal of cultural equilibrium

Who among the following propounded
‘Zones and Strata’ theory of the origin and
distribution of human races ?

(A) Hoebel
(B) Kroeber
(©) Hutton

(D) Taylor

Which of the following is the largest
spoken language of the world ?

(A) English
(B) Hindi
(C) Russian

(D) Mandarin (Chinese)

29.

30.

31.

frafafad § 9 S O afy friew & ag
it & ek wera fagia 2

(A) TF-TEA H= fEga
(B) BriSirea-¥afvreret i fasia
(C) it =1 Seater Y T

(D) Hiepiasw gaged fagia

frfafiga § fpaw Ama yefadl & 9q9
w famo & ‘yeve e dw’ fag @
gfare fewan?

(A) Bad
(B) I
(C) ®A

(D) W

fava & wa@ offyer siclt WM arct W
frafafea § 9 PR-T1 82

(A) st
® f=
() w
(D) F=fE ()

SPACE FOR ROUGH WORK / 7% & & fod S8
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32.

Which of the following statements is not
about the |
regionalisation ?

true principles of

(A) Classification (regionalisation)
should be designed for a specific
purpose

(B) When dividing, the division should
proceed at every stage upon one
principle

(C) The objects which differ in kind
may fit into the same system of
classification

(D) The classifications are not absolute ;
they require to be changed as new
information becomes available

Which of the major River of India does
not form delta ?

(A) Cauvery
(B) Godavari
(C) Krishna

(D) Narmada

32.

33.

frefafea wobi § 9 $59 @ yevfwor &
M el & s E w22

(A) wﬁmm(u%sﬂw)aﬁm(m)
oty 389 1 o § e AR #1
ST =TT | o

(B) farST a9, T WR W T &
fram (fagm) & R | favee
Tepan s =nfew)

(C) TOTHE AT el T & FAR0
It B THETS 8 a6 §

(D) =rjieRter sif<m (afigef an <oml) =&
BId; 7T ST =Rl W o 19 Sfiandor
IREd B & |

RA 1 B 9 &7 T e Fmfo w
a1 ?

(A) &G
(B) Ticrerdt

(€) S

(D) e

SPACE FOR ROUGH WORK / 1% &t & fed g
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34.

35.

,Assér‘ti“on (A) :

Givén below are two statements, one
labelled as ‘Assertion (A) and the other
labelled as Reason (R) :

Mumbai is called
Manchester of India.

Reason (R) : Mumbai is an Industrial

~ City.

Which of the following is correct ?

(A) Both (A) and (R) are true and (R)
explained (A)

(B) Both (A) and (R) are true, but (R)

does not explain (A)
(C) (A) is true, but (R} is false

(D) (R) is true, but (A) is false

Which of the following sequences of steel
plants from north to south is correct ?

(A) Burnpur-Bokaro-Rourkela-Bhilai
(B) Rourkela-Bhilai-Bokaro-Burnpur
(C) Burnpur-Rourkela-Bhilai-Bokaro

(D) Bokaro-Burnpur-Rourkela-Bhilai

34

T EX Y SHET (R) T fean TR

 snaftwort (A) : T W AR T
Sk

&HTOT (R) : o siieifite TR B

foreiferfiaT & @S9 T Ed 82

C(A) (A)TER) T EIR(R), (A) F

35.

HE ®

(mwwww%mmw
R & hal |

S (©) (A) TR E, T (R) e )

(D) (R) ¥ &, T (A) Tewd B

i
&

TG S % ST 9 <feror frefatea Al
Y HA-T T ®?

(A) S-SR~ TS Tehen-faams
(B) USTHEA-TUeTE-shRI-SH

(C) THR-TEHeT- FerR- s

(D)  SRRI-TAYL-Tehel - Tt . ...

SPACE FOR ROUGH WORK / 1% & & f&d e
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36. Match List-I with List-II and select the ~ 36. §eit-I %! GeA-1I % Q1Y Gafed ST iR

correct answer from the code given 4 el e 9 W& S g
below : .
List-I List-II -1 11
(Canal) (State) (IT'IET ) (TsT)
(a) Sirhind canal (i) Rajasthan (a) TfE= 7T () TSEM
(b) Lower Ganga (i) Gujarat (b) NS M TR (i) S
canal
(c) Gang canal (iii) Uttar (c) TR (iif) 3T TG
Pradesh
(d) Ukai Project  (iv) Punjab (d) < URASET  (iv) e
canal et
Code : %<
@@ (b) (o) (d) @@ (b) (© (4
(A) (@) (@) (i) (@v) | (A) O @ @G (@)
(B) (i) @) (iv) (i) (B) @) (@) Gv) (@)
© @ (v) () () ©) @) (@v) @) @
(D) () (i) () (i) (D) @v) @) @ ()
37. Match the following is : 37. frfafea # fiemy :
List-1 List-1I T-1 -1
(a) Digitization (i)  Analysis (a) fefSersem (@) forerm
(b) Plotter (i) Editing (b) X (i) HEEE
(c) Snapping (iii) Output () ¥ sfewe () frfa
undershoots
(d) Buffer (iv) Data Entry (d =% (iv) SRITH
Code : &
@ () () (d @@ () (9 (d
®) @) @ O o (A) @)@ - (@)
B ) @) @ ®) @) @& @ @
© @ O @) @) © @ 0 @ o
(D) i) @) () () O @ ® &

SPACE FOR ROUGH WORK / T% & & fod s7re
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38.

39.

40.

Simple correlation coefficient measures : 38.

(A) Only degree of correlation
(B) Only direction of correlation
(C) Both degree and direction of

correlation

(D) Neither degree nor direction of

correlation

The shaded partion in the example given ~ 39.

below suggests :

A B

(A) AorB

(B) [A and (not B)] or [(not A) and B]
(C) Neither A nor B

(D) AandB

Population Density maps are : 40.

in nature.

(a) Qualitative

(b) Quantitative

(¢) Thematic

(d) Non Thematic

Which of the following are correct ?
(A) (a) and (b)

(B) (b)and (9

(©) (c) and (d)

(D) (d) and (a)

I TEEE T[Oieh I L § ¢
(A) o gegwry & feaft o
(B) el HewrrY i fawm #
(C) weErry # fawn iR feult gHi &

(D) wedery w7 a1 ferft = & fewn @

EHREUR RS EIR R IRIE R ERIIC RG]
®?

A B

(A) AWB

(B) [A 3R (B 7&l)] = [(A 7TeT) 3IB]
(C) TATB

(D) A 3RB

STREREAT BT WA 1 Wehtd Sl ¥

(a) TUTCHS

NORRIEIR:ED

OERELEED

d) R-fowes
fedaR I ¥?
(A) (a) 3 (b)
B) () 3R (o)
© (o) 3R (d)
(D) (d) ¥R (a)

SPACE FOR ROUGH WORK / T% &1 & f&& srie
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41.

42.

43.

The slopes of pediment and bajada vary  41.

between :

(A) 45° and 90°
(B) 15° and 45°
(©) 10° and 15°

o

i
(D) = and about 7°

2

Which of the following land features  42.

develop in the belt of weak rock between
resistant beds on the flanks of anticyclones
and synclines ?

(A) Anticlinal valley
(B) Synclinal ridge
(C) homoclinal valley

(D) homoclinal ridge

Most of the present earth’s topography 43.

belong to :

(A) Cenozoic era
(B) Mesozoic era
(C) Paleozoic era

(D) Pre-cambrian era

fetie aur SeT Tt BT Sl @ -

(A) 45° iR 90° & =
(B) 15° 3R 45° & o=
Q) 10° R 15° & &

(D) % 3R T 70 % <9

YAt Td yeIfvmfadl & uwd § wen
I TER o Wi o wusie e w1 99 T
Ffafed 9 € fora woesia = fawm 8
82

(A) 3ToAfaes =t
(B) 3fiH{dw wedh
(C) UWehdfces =Et &l
(D) Ul s I

Yeaft st ATy TR a Trta

TSt (FAISIEh) HeThed §
(B) HeSiE (FHISEH) ey §
(©) qusita (Yferisie®) weehed 9§
(D) Hfisa qd (fa-Sftsra) wemere @

(A)

SPACE FOR ROUGH WORK / &% &/ & fo& srre
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44.

45.

Which one of the following are not

associated with earth movements ?
(a) Flood

(b) Tilting

(c) Subsidence

(d) Mud flows

Code :

(A)
(B)

(a) and (b)
(
(©) (a) and (d)
(

b) and (d)
(D) (a) and (c)

Assertion (A) :
leads to disintegration of rocks due to

Mechanical weathering

temperature variations, wind action in

deserts.

Reason (R) :
granular disintegration are found in the

Block disintegration and

deserts.

Select the correct answer from the code
given below :

(A) Both (A) and (R) are true and (R)
explains (A)

(B) Both (A) and (R) are true, but (R)
does not explain (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

44,

45.

frfafiaa o @ fae deiy geat &t g 9@
T ?

() €
(b) FFMA
(c) STaded
(d) Y
%

A) (@3 ©)
(B) (b) 3R (d)
© (a) 3R (@)
(D) (a) ¥R (0)

AfeRY (A) : it ArEH g9E aHH
RedT IR AeEel™ vaAt ®t fRa & S
gl % T § " B g

HOT (R) : AEeal § Gl 3R THER ol
=1 faere @ s 2

e A e e SW g

(A) (A) 3R (R) 3 ¥ § 3R (R), (A)
w1 GE AT R |

(B) (A) 3R (R) 3 ¥ ¥, T (R), (A)
T TS = T 2

(C) (A) ¥ &, WY (R) 379 T
(D) (A) 3THA §, T (R) T

SPACE FOR ROUGH WORK / % &d & fo&l g
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46.

47.

Assertion (A) : Darjeeling Himalayas are
very much prone to landslides.

Reason (R) : Mass movements of rock
wastes down the slope are called
landslides.

Select correct answer from the code given
below :

(A) Both (A) and (R) are true and (R)

explains (A)

Both (A) and (R) are true, but (R)
does not explain (A)

(B)

(©) (A) is true, but (R) is false

(A) is false, but (R) is true

Identify the correct sequence of the given
processes regarding rainfall.

(A) Unsaturated air - condensation -
dew point - precipitation

(B) Dew point - condensation -
unsaturated air - precipitation

(C) Unsaturated air - dew point -
condensation - precipitation

(D) Dew point - precipitation -

condensation - unsaturated air

46.

47.

SR (A) : TS ferret &5 y-Taer
% foTT Weret et

WHT (R) : T TRl H1 9 T F gl W

qEF -TEE FHeeldl ¢ |

(a) 3R (R) 3 @ T iR (R), (A)
) e A ¥

(A)

(A) 3R (R) 1 7 §, T (R), (A)
=t WE e A8 ¥

(B)

(A) ¥ 8, g (R) 319 B

(D) (A) ¥/ 8, T (R) ¥ §

aul ¥ gafug frafafea sfwmaet = uf
STIHA YEEHT |

(A) STHTS - HeT - 3TiF-TeoT
(B) STh-HoT-THW -0l
(C) THJW Y- 3THIh-Ho-au0

(D) aﬂqraﬁ—aﬁm-ﬁw—w’?m g

SPACE FOR ROUGH WORK / 7% &% & ol wme
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48.

49,

Which one of the following is the correct
sequence of cloud forms in ascending
order of their heights from the ground ?
(A) Cirrus, cumulus, stratus
(B) Cumulus, stratus, cirrus

(C) Stratus, cirrus, cumulus

(D) Stratus, cumulus, cirrus

During the passage of a tropical cyclone
at the sea coast, the following
atmospheric conditions are observed :
(a) Torrential rainfall with gusty winds
(b) Barometric fall with dark clouds

(c) Total calm and clear skies

The correct sequence of the occurrence
of these conditions :

(A)  (b), (@) and (c)
(B) (a), (b) and (c)
(©) (9 (b) and (a)

(D) (b), () and (a)

48.

49.

ST 9 S Hagal o el e H aee %
RN 1 T e Frer & s w32
(A) FowE, wpew, Wew

(B) wRHwW, Tew, fag

© wew, fowy, wgew

(D) ¥eH, Fe, f

TR T # e wroha % ToRT % SR
frefafe agHeea st deh s ¥
(@) TRET eSS W WY JEEYR o

(b) I e % WY AR T

(c) ¥nid SR W T

T HSIST 1 WE ST

(A) (b), (a) 3 (c)
(B) (a), (b) 3 (c)
©) (o), (b) 3R (a)

(D) (b), (¢) ¥R (a)

SPACE FOR ROUGH WORK / T% &/ & fordl w8
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50.

51.

Assertion (A) : Kerala experiences heavy
rainfall due to sudden outbreak of
South-West monsoon in June.

Reason (R) : Sudden and powerful
outbreak and surging of South-West
monsoon occurs in June in Indian
Subcontinent.

Select the correct answer from the code
given below :

(A) Both (A) and (R) are true and (R)
explains (A)

(B) Both (A) and (R) are true, but (R)
does not explain (A)

(©) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Assertion (A) : The temperature tends
to rise with increasing height in
stratosphere.

Reason (R) : Ozone layer in stratosphere
absorbs ultraviolet radiation.

Select the correct answer from the code
given below :

(A) Both (A) and (R) are true and (R)
explains (A)

(B) Both (A) and (R) are true, but (R)
does not explain (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

50.

51.

AR (A) : SF H, W B gfko-ufvedh
A i ST SHIhHdl % HRU TR a9
Y SH-AT W 3R T |

HRUT (R) : 9RTA IU-Hegv &
eferor-afyemdt 7y @1 gl wifw & 9@y
STNTAA Y S S HE | ot ]

T %2 @ W& SO =T HNT

(A) (A) 91 (R) S ¥ ¥ iR (R), (A)
! € RS B

(B) (A) ¥R (R) I T T, W (R), (A)

=1 T e e 2
(C) (A) ¥ ¥, W (R) 319 &1
(D) (A) 38 T, W (R) T &

AUFRTT (A) : WATHRR H agdt e
o T AAET g ol § |

FHWOT (R) : RIVERR 7 AN 9a
sregarieR fafatul ) 9rg o 2

firmferian @ W@ 9o 9 -

(A) (A) T (R) SHI 9 T TA(R), (A) Ft
&t A=A R |

(B) (A) Tl (R) <l ¥ €, T (R), (A)
1 T =T T

(C) (A) ¥ ¥, T (R) 319 ¥
(D) (A) 379, § R (R) TF ¢

SPACE FOR ROUGH WORK / T& & & fad s
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52.

53.

54.

‘Coriolis Force’ at the Equator is : 52..

(A) Maximum
(B) Zero
(C) Medium

(D) Minimum

The ocean currents of
are seasonal in nature.

(A) North Pacific
(B) North Atlantic
(C) South Atlantic

(D) Indian

A circulatory system of currents in one 54.

hemisphere of a major ocean is called

(A) Gyre
(B) Cell
(C) Whirlpool

(D) Stream

ocean 53.

Jue W@ R Fifeifa vl w5 ae da
8

(A) SAfgsan

(B) I

(© =em

(D) =qaaH

_ TEEFR H 9nffEe 9wed st
TPTT Sew Bt £

(A) S g

(B) W difesk
(C) T srewifes
(D) fe=

W@ﬁ@w%méﬂﬁm&ﬁﬁ
FAHR T I HEd &2

(A) TR

(B) §a

©) @

(D) )

SPACE FOR ROUGH WORK / T &8 % ol <8
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55.

56.

57.

The second letter ‘W’ in Koppen'’s climatic
code means :

(A) Hot humid climate
(B) Dry winter season
(©) Rainy winter season
(D) Desert type of climate

The north-south

mid-Atlantic ridge is broken by :
(A) Challenger deep
(B) Aleutian trench

continuity of

(C©) Romanche deep
(D) Tuscorora deep

Mentioned below are the names of four
books with their respective authors.
Which of the following arrangements in
chronological order of their publication
is correct ?

(@) Stamp : Applied Geography

(b) Smith : Human Geography : A

Welfare Approach

(c) James : All Possible Worlds : A
History of Geographical Ideas

(d) Hartshorne : The Nature of
Geography

Code :

(A) (@) @) () ®b)

B) (@), ®) () (@)

© ®)(©) @) @

(D) () (@) @) (b)

55.

56.

57.

U % A He H EA &R ‘W
T e §7

(A) TH TR SeaEr

(B) Y=F ¥ g

(C) it Id g

(D) TR Seary

ae-eAifeh o w1 Iad-<faont Frema
! oifSa R ©

(A) SeiSR T

(B) T TR

(C) iRt T

(D) TERRW T

19 IR TEIh1 (6 AR & T F Y
T 3TE T ITH URWF & HEHH |
frafafea waf 3 @ B-T |8 82

(a) M : MRS SHE
(b) T 3 9l @ T IR T

(c) <9 : 3N e eegd : U feed
3w Saiifree eTsfears
(d) ®RRIA ¢ & AR sifw saufts

(4) (@, @) () ()
B) (@ (b), (©) (@)
© ®), ) @ @
(D) (9, (@, (@), ()

SPACE FOR ROUGH WORK / T% &1& & fodl sie
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58.

59.

60..

Royel Geographical Society is related to : 58.

(A) Great Britain
(B) US.A.
(C) France

(D) Germany

Who is the writer of “New World’ ? 59.

(A) TJefferson
(B) E. Bowman
(C): Sour

(D) Hartshorne

Who was established the “Annals of the 60.

Association of Geographers’ ?
(A) Perkins Marsh

(B) Jefferson

(C) Devis

(D) Semple

"o SfteeRet Heen’ el w82
(A) U2 e

(B) WY Tod AR

(©) Wi

(D) S+t

‘H ToT’ & EE H 2
(A) STHER

(B) SmEER

(©) WR

(D) ®weN

" 1% T THIRAEE ot el w1
AT fRe &) ?

(A) wfeEg i
(B) SIHIEA
(C) zfam

(D) &g

SPACE FOR ROUGH WORK / 1% &1d % ot wiig
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61.

Which are the work of Mackinder ? 61.

; (a) Geographical Pivot of History

62.

~ (c) Ptolemy (d)

(b) On Geography and its History

(c) The Round the World and Winning
of Peace

(d) The
Geography

Dictionary of Human

Select the correct answer using codes
given below :

(A) (c) and (d)
(B) (a) and (q)
(©) (b) and (c)

(D) (b) and (d)

Who are the Roman Geographers from  62.

the following list ?
(a) Pliny (b) Thales

Homer

Select the correct answer using codes
given below :

(A)  (a) and (b)
(B) (a) and (c)
(©) (b) and ()
(D) (c) and (d)

At F G HA T E?

(a) 3frem = vifae g

(b) Tt iR Su! e

(c) T USS Tace tg fafn oifw i

(d) A Pl Sl ey
= fow T el @ WE I T Y

(A) (o) &R (d)
(B) (a) 3 (c)

C) (b) 3 (c)

(D) (b) 3R (d)
forfefan & & S A iR 2
(a) Tt (b) o™
(c) et (@ @R
1 fou 7T el @ Wl ST T A

(A) (@) 3R ()
(B) (@) 3 ()
© () 3R ()
(D) (0 3R (d)

SPACE FOR ROUGH WORK / T% &9 & o wg
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63.

64.

Mentioned below are four countries. 63.

Which of their following sequences in
increasing order of infant mortality rate
is correct ?

() Czech Republic
(b) Finland

(©) Japan

(d) Sweden

Code :

(A) (d), (©), (), ()
(B) (@), (b), (9) (d)
(© (), (d), (@) (9
(D) (9, (b), (d), (a)

A process whereby a low rent  64.

neighbourhood is transformed into a high

rent neighbourhood through

redevelopment is known as :
(A) Sub-urbanization

(B) De-urbanization

(C) Centrification

(D) Urban Explosion

e =R oHl W SeorE © | R 9 /E e
%A ¥ 3 Frfafad w6 1 9 SF-91 |98
77

(A) (@) ©) (b) @)
(B) (@), (b), (), (d)
©)  ®) () @ ©
D) (©, (b), (@) @)

T giskhan oo gaiads & mem @ @
T2 AEE I TR & 1= ToRgs & ear
%1 T Hed § 2

(C) FErFR
(D) T fowre

SPACE FOR ROUGH WORK / % & & o e
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65.

66.

Which state is inhabited by the tribe 65.

known as Khasi ?

(A) Meghalaya

(B) Tripura

(C) Arunachal Pradesh

(D) Nagaland

The city commonly atleast twice as large ~ 66.

as the next largest city and more than
twice as significant is known as :

(A) Capital

(B) Primate

(©) Megalopolis

(D) Metropolitan

W ST e T HiE 18 ?

(C) ITEUIEE UoW

(D) MRS

FE IR SN FH Y FH TEH TG T IR
T AT I T FEYUl & 1 A Hed | 2

(A) TSYHT

(B) W TR

(C) wanmfad

(D) HgEte

SPACE FOR ROUGH WORK / % & & ol siig
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67.

68.

Primate cities are found in countries
with :

(A)
(B)
©
(D)

Large territorial extent
Relatively low population densities
High per capita income

Colonial past

Consider the following statements :

(2)

(b)

(c)

(d)

Concentric Zone Model studies land
use in city from the viewpoint of
distance from city centre.

Concentric Zone Model studies land
use in city from the viewpoint of
direction from city centre.

Concentric Zone Model takes into
consideration the location of
industry in a city.

Concentric Zone Model takes into
consideration the location of
commerce in a city.

Which of the above are true ?

(A)

(B)
(©)

(D)

(a) and (b)
(b) and ()
(c) and (d)

(d) and (a)

68.

67. U SIET 3 90 | U o & o

(A) &I Y-9rie faam 8

(B)

HHIY: Y SHHE 596 8 |

(C) == ufd =afem e &1
(D) forma frufvafyen sfiem 211

(a)

(b)

(©)

(d)

=1 el W o whifr

HhT S Hisd, TR & A @ F
SR § TR § -S0E0 F7 v
HIT R

Gehg WM Hisd, TN F ¥ fewn #
RIS § TR § 43790 7 31
FA RN

Th S Aieel TR § 2N % e
I T <l B

Hehg SH Higel TR § =R T 6
AR ol |

ST H BB Qw5
(&) (a) 3R (b)

(B)

(b) 3 (c)

©) () R (d)

(D) (d) *R (a)

SPACE FOR ROUGH WORK / T% &4 % & g
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69.

70.

Consider the following statements and ~ 69.

specify which are correct ?

(a) C.B.D. has R and D activities
(b) C.B.D. has highest accessibility
(c) C.B.D. has highest land values
(

d) Industrial areas have highest land

value in a city

(A) (a) and (b)
(B) (b)and ()
(©) (0)and (d)
(D) (a) and (¢)

Consider the following statements and 70.

choose the correct ones :

(@) Slum dwellers are a divided society.

(b) Slum dwellers are a cohesive
society.

(c) Informal sector of economy is high
in Delhi.

(d) Informal sector of economy is high

in London.

Code :

(A) (a) and (b)
(B) (b) and ()
(©) () and (d)
(D) (d) and (a)

ot el R forem sifse qen wé s i

HIfSTT :

() HEL, IR AR L. FFE &

(b) . w i sfew g R

() TS =1 y-Tca vay iy 8

() vl H Sl &5 i Y-ed &
A e

%<

(A) (2 SR (D)
(B) (b) ¥R ()
©) (o) ¥R ()
(D) (a) 3R (o)

(A) (a) 3R (D)
(B) (b) 3R ()
© (o) 3R ()
(D) (d) ¥R (a)

SPACE FOR ROUGH WORK / % @18 & for&l S7g



71.

Which vmethods
S.S. Bhatia ?

introduced by

(a) Crop Concentration
(b) Crop Specialization
(c) Crop Combination

(d) Agricultural Efficiency

Select the correct answer using codes
given below :

(A) (a) and (d)
(B) (a) and (c)
(©)  (b)and (d)
(D) () and (d)

Who has calculated the ‘Agricultural
Productivity” ?

(a) Enyedi

(b) Md. Safi

(c) J.C. Weaver

(d) Coppock

Select the correct answer using codes

given below :

(A)  (b) and (d)
(B) (a) and (o)
(©) (2) and (b)
(D) (b) and ()

71.

72.

TH.TH. e o gr = T fafg €

(a) = HHgEW

(b) = foRdieRTor

(0) & HaAH

(d) FT &

= feu T el § W S H T B

A) (2 3R (@@
(B) (a) 3R (o)
© () 3R (9
(D) () ¥ ()

SRl Yeehih T AT Tohgid it 2

(a) TIEE

(b) . IH

(c) St R

(d) it

2 T T Fel ¥ WE W H = FYE

(A) () 3R (9
(B) (a) 3R (o)
© (@) 3R D)
(D) (b) M ()

SPACE FOR ROUGH WORK / &% &1d & ol s e
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73.

74.

75.

Which one of the following sectors of the
economy is state owned and its service
sector is a public enterprise ?

(A) Irrigation
(B) Agriculture
(C) Forests

(D) Plantation

Least Cost Location Theory for Industrial
location was propounded by :

(A) Agust Losch
(B) W.M. Smith
(C©) W.M. Davis

(D) Alfred Weber

The concept of ‘Pivot area’ is described in

(A) Heartland theory
(B) Rimland theory
(C) Rostovs model

(D) Locational theory

73.

74.

75.

s ¥ Q99 o e & Wai ®
THHT e IF G SUHT % Tl |

Aefirer wF ¥ faw %9 v ael
fogia feFaet ST §72

(A) TR
(B) TxLTH. &Y
(©) =T T
(D) 3TEHS A

“fiyere oftan’ ) Herew forg fagia o w1
¥?

(A) weSe fagia
(B) foreis fagia
(C) UL Hied
(D) enfrer fagia

SPACE FOR ROUGH WORK / % &4 & fordl g
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80..

- (a) : Per |

Which-model of growth and evolution of
rural settlement has described into four
stages from primitive to welfare stage ?

(A) Ramchandran and Srivastava
(B) Blouet

(C) Royburman

(D) Al three of the above

Who among the following introduced the
concept of region to planning ?

(a)
(B) Geddes

(C©) Mumford

(D) Radhakamal Mukerjee

MacKaye

Which of the following indicators are
used to calculate human development
mdex in India ?

caplta consumption of
electricity
(b) Per capita

expenditure

consumption of

() Composite index of educational
attainment

(d) Composite index of health
attainment

que:

(A) (@), (b), (¢) and (d)

(B) (b).(c) and (d)

© (a), (b) and (o)

(D) (a), (b) and (d)

80.

81.

82.

Tt e o forere we gfs % e i

Y FTHTH ST FHTIHR SR T,

IR =X H afvfa e e €2
(A) TR IR drarea
(B) wIEe Lo
(C) g
(D) ST AT

frefafea & 4 fea friem 4 e
IR ! Wi fFan?

(A) TERF
B) frés=
(C) AFRIEA
(D) TETHwE BT 3

G H e e gEehie % gieher v
foF-form gl w1 i a8 2

(a) wf s forege Sl

(b) wfa =afeq Jusim =1

(c) Ve Sywfen 1 WyT Yuwiw
(d) ETren Il 1 HYH GEhih
%
(A) (@), (b), (c) T (d). |
(B)  (b), (c) AT (d)

© (@), (b) T ()
(D) (a), (b) T (d).

28 TFU-GEO/ ELG-II



83.

Match List - I with List - 1I and select 83.

the correct answer from the codes given

below :

List - I List - II
(Scholar/ (No. of major (macro)
Organisation) divisions of India into

planning regions)
(a) V. Nath G 13

(b) P.Sen Gupta (i) 15

() Town and () 07
Country
Planning
Organisation

(d) Bhat and @) 07

Prakasa Rao

Code :

@ ® © @

(A) @ @ @) @)

(B) () @) @ @)

© (v @@ @@ O

(D) () G) (@v) (i)

et - 1o Gt - 11 9 gafera e i
& Fel § Wl W A :

et -1 gt - 10
(Fagr/ATeT ) (WE & ged s
Wl w G
(a) &t ™ G 13

(b) . &7 = @) 1°8

() TRUE UM FESH (i) 07

(d) W T Y™ (iv) 07

@ ® () (@
(A) @ @ @ @)
(B) @) (@) @& @)

© Gv) @) @@ @

(D) () @) @) (@)

* SPACE FOR ROUGH WORK / T% @t & ferd se
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4l
.

Which of the following sequences of

stages of spatial organisation and growth

according to the centre-periphery model
of Friedmann is correct ?

(A) Incipient industrialisation;
Pre-industrial; Transitional; Fully
fledged spatial organisation

(B) Pre-industrial; Incipient
industrialisation; Transitional; Fully
fledged spatial organisation

(C) Fully fledged spatial organisation;
Incipient industrialisation;
Pre-industrial; Transitional

(D) Incipient industrialisation; Fully
fledged spatial organisation;
Transitional; Pre-industrial

Von - Thunens has given important six
zones in his Agricultural Location Model
out of which four (4) are given below :

(a) Market Gardening and Milk
Production Zone

(b) Crop Farming, Fallow and Pasture
() Livestock Farming

(d) Firewood and Lumbering
Production

Select the correct sequence from the
central market towards the periphery
from the codes given below :

(A4)  (b), (@), (), ()
B) (@), (D, () ()
©)  ®) ©) @7@)
(D) (© (@), ®), (d)

W@?%%—mnﬁaﬁa@ﬁ@ﬁm
(yEnfaes) e iR foaem &t staeens
w1 Ffafea § @ wF-91 %9 9@ &7

(A) URfwer Sfeirienor; sieiie-gd,
SERAP U CRINECIRE o GSA

(B) 3_ i]dl’ilaiiﬂl—‘fof; gRfE ﬁldllilmm;

(C) yofam fawfaa yd=nfas dreT,
Rty ﬁ@"'ﬁw; @@"ﬁw—@;
BERL

(D) YRfees sfreifieor; quigan faerfad
qad=arfas  gN3H;  wHEHU;

sireirfeto-gd

TA-YATE 7 T Hf T yfae §
B: HETAqUl &1 o Aol fohan & 5 9 SR
(@) W MEMT IR fiesk Wewwm S=

(b) wia FIfHT, et wos g
(c) vRaRl® wiHn
(d) THRRES TS T =T MM

frafafaa %2 § S a9R 4 sam 9%
FHATEN T ST A

(A)  (b), (@), (@) ()
(B) (@), (d), () (c)
©  ®) ©) @ @
D) (© @), ®), (d)

SPACE FOR ROUGH WORK / T% & & fod sre
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86.

87.

The extreem North-East states of India :
() Manipur

(b) Nagaland

(c) Mizoram

(d) Arunachal Pradesh

Select the correct sequence of the states
from north to south from the code given

below :

(A) (@) (©) (@) @)
(B) (b), (¢) (@), (d)
© (@), ®) (@) ()
(D) () @) (), (@)

Most populus states in India as per 2011
Census :

(@) Maharashtra
(b) Uttar Pradesh
(c) West Bengal
(d) Bihar

Select the correct sequence in a
descending order using the code below :

(4) (®), @ @) ©
(B) (®) (©) @) (D
© (© (@), (), (@
(D) (d), (), () (@)

86.

87.

frefafiad wRa % ggt Su-Ja1 9 :
(@) U

(b) MRIE

() fosim

(d) ITEUEA HeW

I Y 0 hH H YT TR T oF
=1 e e | g

(A) (), ©) () (@)
(B) (b), (c), (a), (d)
© (), (b) (@)
(D) () @), () (d)

9 2011 ST % STTER Hellfdeh ST
T AT T ¢

(a) TR

6 TWER

(c) fv=m s

(d) fe=R

e e A T &% Hed 9 B W A
g

A) (), @), (D, ©

(B) (b), (9), (a), (d)

©) (o), (b), (a), (d)

(D) (d), (b), (), (@)

SPACE FOR ROUGH WORK / 7% &M@ @ fad '@
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As per the 2011 Census the following are’

the most 'literate states and Union

territories :

(a) Kerala

(b) Mizoram

(c) Lakshdweep
(d) Tripura

Select the correct sequence by using the
code given below :

(A)  ®), @ (), (d)
(B)  (©). @, ®), ()
©) (@ (@), ®), (d)
(D) (@), (), (9, (a)

What are the chief causes of low yields of
crops in India ?

(@) Small size of holdings
(b) Traditional methods of farming
(c) Mass illiteracy among farmers
(d) Low level of farm mechanism
Code :

(&) (), (b) and (9

(B) (@), (b) and (d)

(©) (b), () and (d)

(D) (@), (0 and (d)

88.

89.

a9 2011 STUAT % IFER e waits
fofer T4l SR s wifea we =i gute
T

(@) @

(b) fosi

() TR

(@ Prgu

=1 %2 @ = & wd TR g

(4) (). (©) @, @
(B) (0), (@), (b), (d)
© @ © 0),
(D) (d), ®), (©) (@)

T H A JSER B 6 TE&H HRU F-F7
g2

(@) Y-S * SIS Y

(b) & B H [H Th

(c) Towruri # frerar

(d) o gt 1 f ')
ETE

(A) (a), (b) 3R (o)

(B) (a), (b) 3R (d)

© (), (o) IR (d)

(D) (@), (c) ¥R (d)

SPACE FOR ROUGH WORK / T% %/ & e swe
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90.

91.

Which of the following cause(s) can be
attributed to the decline of population in
India between 1911 and 1921 ?

(a) Severe Natural Hazards
(b) Preventive Checks

(c) International Migration
(d) Epidemics

Code :

(A) (a) and (b)

(B) (d) alone

(C) (b) alone

(D) (a) and (9

Given below are two statements one
labelled as Assertion (A) and the other
as Reason (R) :

Assertion (A) : Peninsular India is a
region free from techtonic disturbances.

Reason (R) : The configuration and
Drainage of Peninsular India are
influenced by fracturing and tilting of the
massif.

Select the correct answer from the code

given below.

(A) Both (A) and (R) are correct and (R)
explains (A)

(B) Both (A) and (R) are true, but (R) is
not explanation of (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

90. 1911 3R 1921 % HeA 9RG H1 S
I 3T et hIE/E R §/E 2

(a) WEH UIHTah STIRTE

(b) STETE H S A i B I
(c) A yared

(d) el

%<

(A) (a) 3R (b)

(B) e (d)

(C) & (b)

(D) (a) ¥ (9)

91. ITRFHYA (A) T HIOT (R) ¥ TR
e feg T

AR (A) : WRA 1 ISR Wowt Fereret
IUA-YIA O K ¢ |

THIUT (R) : 9 & TSR T 1 H{hh
i st wonelt weidi st =Nfedl @l gt
oAl @ genfad @ g

ﬁﬂ%ﬁﬁﬁﬁ?ﬂ'ﬁ@:

(A) (A) T (R) I & § T (R), (A
e A R |

(B) (A) T (R) 3 W&l €, T (R),
! e e T8 B i

(C) (A) T ¥, T (R) A T
(D) (A) 38 &, W (R) T B
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92. The scale of measurement which deals 92. & ST TRT A Fafem HIYeh Thel 81T © :

with rank order data is

(A) Nominal (A) Tfaa
(B) Interval (B) w=t@w
(C) Ordinal (C) enféaa
(D) Ratio (D) =
93. Religionand caste canbe studied withthe ~ 93. & iR wifq &1 sremey EICED
help of ____ scale of Thel i HerEdl ¥ A W g ¥
measurement.
(A) Nominal (A) FifTa
(B) Ordinal | (B) afETa
(C) Interval (© T
(D) Ratio (D) & (3Tum)
94. Overshoots are _______ in 94, eE gEAEA (ST, GISH sifie=r
Geographic Informations System (GIS). A 2
(A) Correction mechanisms (A) Yur fafmr
(B) Errors (B) el
(C) Patterns (C) vfawm
(D) Editing tools (D) WHEHT ITHI
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95.

96.

Consider the following statements and
choose the correct ones :

(a)
(b)
()

Vector is a tree data structure.
Quadtree is a tree data structure.

Fine lines are a characteristic feature
of Vector data.

Fine lines are a characteristic feature
of Raster data.

Code :

(A) (a) and (b)
(B) (b) and (c)
(©) (o) and (d)
(D) (d) and (a)

(d)

Consider the following statements and
pick the correct ones :

(a) The best map for showing
population  distribution is

chorochromatic map.

The best map to show population

(b)

distribution is dot map.

(©)

Traffic pattern is best shown by
flow maps. .

(d)

Traffic pattern is best shown by
choropleth maps

Code :

(A) (a) and (b)
(B) (b) and (o)
(©) (c)and (d)
(D) (d) and (a)

95.

96.

g @l W faEr FifET o 9@ s
sy

(a) HRN T 2 TR T Bl

(b) TS T STl A Al
() TR Y@, JE ¥ w1 ARIGE
ferroand gt B 1

TR Y@N, YT ST i AR
fergroramd 2t 21

- |

(A)
(B)
©
(D)

(d)

(a) 3T (b)
(b) 3 ()
(c) 3R (d)
(d) 3R (a)

fretfefan wo W fER R ot w@

I FH A BT |

(a) STTEE foaRon i 1 wrad A
FRBAEE THEH T

S feraTon <A w1 aiad AHfEs
ofe grfa B 1

AT W8T hi T T FaaH HIeAH
HaE AT B 2 |

T W 1 S il Foll Wz
FRY T A |

e .
(A)
(B)
©)
(D)

(b)

(©)

(d)

(a) 3 (b)

(b) 3 (o)
(c) &R (d)
(d) ¥R (a)

SPACE FOR ROUGH WORK / T& &1& & & '8
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97.

98.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select your
answer from the code given below :

Assertion (A) : Pie charts are not a good
way of presenting information.

Reason (R) : Pie charts are based on

angles or areas.
Code :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (R) is true, but (A) is false.

What is the term that refers to four marks
at the centre of the four sides of an aerial
photograph ?

(A) Caliper marks
(B) Clamping marks
(C) Camera frame marks

(D) Fiducial marks

97.

98.

AFUHAT (A) T HROT (R) § HiRRT QA
Fer fed 1 71 Frefafed % @ wd sw

ATUERYT (A) : YT TAH F TR-=1

T SYANT 371 a0 T R

HNOT (R) : UE-91RH, IV 91 95 e
TR

%<

(A) (A) 71 (R) ST ¥ § 991 (R), (A) 1
& e B

(B) (A) T (R) THI ¥ T, T (R), (A) .
& TE e & T

©) (A) ¥ §, W (R) 219 ¥

(D) (R) ¥ &, g (A) 318 21

AERIA BREUTE & =R el & "oy |
fafeq =R fo=ei = frd defia fran
72

(A) HelR fo=g

(B) iftgn fag

(© Fwa H faw

(D) wIs(aae e
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99.

100.

What is the altitude of most of the remote

sensing ~ satellites  placed in

geosynchronous orbit ?
(A) 300 - 1,000 km

(B) 1,000 - 3,000 km
(C) 30,000 - 36,000 km
(D) 3,000 - 3,600 km

A measure of correlation of a variable
with itself through space is known as :

(A) Simple correlation
(B) Multiple correlation

©)
(D)

Spatial auto correlation

Spatial relation

-000-

99.

100.

Y-qeamIerh wE § T AfHrhat g
TS SYTRl I S Bl B

(A) 300 - 1,000 ferst.
(B) 1,000 - 3,000 fertl.
©
(D)

30,000 - 36,000 T,
3,000 - 3,600 T,

g § frat foeor % @ % Ty & qedad
1 A9 HETT © ¢

(A) T HEHEY
(B) TN Weday
©

(D)

Tofem wasdsy
Tafem gy

~-000-
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| VS

T 3ifeRd T HT Y : 26 } { aframaw A : 201
S

Maximum Marks : 20

L

Time for marking answers : 2 Hour

Me
1. wm—-gﬁamﬁmow%—u@%wzmw%u ot TR g HE A

2. T % S, & T OMR IW-YE (M- W Hfehd wifww |

3. HUTCHe qediche el fohdl SenT |
4 rd it O F erpers 1 o e T HeEd W W A ¢

5 OMR ST-3NE (STER-¥2) &1 Wi w o TE aE SEEE 7 /a0 e 9% e S
wﬁ%mﬁmaﬁ%aﬁﬁﬁm%m@a@

Note :

1. This Question Booklet contains 100 questions. Each question carties 2 marks. Answer &

questions.
2. Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not g
torn or spoiled due to folds and wrinkles.
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